DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
11JPCM10 | JEE PRACTICE QUESTIONS | %1%
(2023-24) (TEST-10) Total Marks: 180
General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. A satellite is seen every 6 hours over the
equator. It is known that it rotates opposite
to that of earth’s direction. Then the angular
velocity (in radian per hour) of satellite about
the center of earth will be

A) n/3 B) n/8

C) n/2 D) n/4

Lelluwiledr &hmiSHenssHE& aHF Henguley
FLOSVIID  GI60)600TEHC ST 6R60TMI 626 GlGUIT(H
6 Loeoofl GHISTHeD BHeuenT CHTLIQMS
Gev  QFFIEMmE.  eTeflev Ljedlu9l esr
MLWESNS FMJbHS Slemeord Gomerfledr
B MevuTs; &) 6t & G & LD (G L. ULI 60T /L0 6001 |- Ul 6L)

A) /3 B) n/8
C)n/2 D) n/4

2. The escape speed of a body on the earth’s
surface is 11.2 kms™'. A body is projected with
thrice of this speed. The speed of the body
when it escapes the gravitational pull of earth
is

A) 22.4\2 kms™!
B) 22.4V3 kms™!
C) 11.2 kms™

D) 22.4/\4 kms!

el Gumurlitiev spp QuMerflesr ellGILIb
Gausmsld 112 km™' QL&LD. @H QUITIHET @HS
Gaussemns el (PWLLEBIEG GCaussHev
TOWLILOSDS 6Tl SHS QUITHET
el iLiy elenawilledmbal SLILNF QF6vswid
GeussLD

A) 22.4\2 kms!
B) 22.443 kms!
C) 11.2 kms™!

D) 22.4/\4 kms!

3. A planet revolves about the sun in elliptical
orbit. The area velocity (dA/dt) of the planet is
4 x 10°m?s~!. The least distance between planet
and sun is 2 x 10">m. Then the maximum speed
of the planet in km/s is

A) 20 B) 10

C) 40 D) 30

4 x 106 m?s' UL SenFCeaussHlev (dA/dt)
@ G 6T @& flement HeT aul L LIMTemg Uiy
FOM uGH M. Gl s G CoHTEHsELID
@enLlUlL Fmin Qg emeve] 2 x 102 m,
61601160 G&merfledT QLIIHLD Bl FGeussLh km/s 6V

A) 20 B) 10

C) 40 D) 30
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4. Two bodies of masses 4 kg and 9 kg are
separated by a distance of 60 cm. A 1 kg mass
is placed in between these two masses. If the
net force on 1 kg is zero, then its distance form
4 kg mass is

A) 28 cm
B) 26 cm
C)24 cm

D) 30cm
60 cm @emLQeuerfluiev Nl
MUGEHLILIL(HeTemT 4 kg WLMMID 9 kg
BlemMU|6TET @ (H QLIM(H6TSHEHE G @)6emL Gl
1kg Blemm 606U & LGB MS!. 1kg Blemmudleor
158 QWG BI&T allend &Ll ereofley 4
kg BledDUNENBHS Q&6 CBTEn6vE)

A) 28 cm
B) 26 cm
C)24 cm
D) 30cm

5. A satellite is in an elliptic orbit around the
earth with aphelion of 6R, and perihelion of
2R, where R, is the radius of the earth. The
eccentricity of the orbit is

A) 172

B) 1/4

C) 1/6

D) 1/3
R. @pTW6Ter Lellemwl, HeT eulL Limemguilev
FOM QLD M Slemeoorss  Gomerfleor
GFUlemIDBlemey DMMID  600TeMLD  [Hlemey
WemmMGW 6R. LOMMID 2R, 6Tevtl6L &MLl
LITen S U 6T emD IS QS Temn6VE &856)

A) 12

B) 1/4

C) 1/6

D) 1/3

6. A body of mass M is divided into two parts
m and (M - m). Which are then separated by
a certain distance. The gravitational force
between them is maximum, then m/M 1is

A) 1:4 B) 1:3
O)1:1 D) 1:2
M Blemym U] 6T @ QUITHET m

LMD (M — m) 660l @ LMHMHISGHETTS
2 MLEGESULULH GMUNLL Qsmeaevailey
Wgs massluGSng. @eanring
@emLGwuwmenr FHUL  eflendF  QUEHLOLD
67601160 m/M-@) 60T LOGLIL]

A) 1:4 B) 1:3

C) 1:1 D) 1:2

7. If the distance of earth 1s halved from the sun,
then the number of days in a year will be

A) 365 B) 182.5
C) 129 D) 730
Hallssh - Glusis@n  @enl il L

QBMEMEVe| LUTHWTES GHeMMESHLILIL LT
6217 IT600T (1) 6T60T LIS 6T&HSH6M60T HITL_GH6IT?

A) 365 B) 182.5

C) 129 D) 730

8. The speed of earth’s rotation about its axis is
o. Its speed is increases to x times to make the
effective acceleration due to gravity equal to
zero at the equator. Then x is

A) 17 B) 1

C) 34 D) 8.5

w &HPMH&F Casside Lall HaT FF 6
FLONRPMSI. B(H 6UEN T G&ITL1960
QMG LWeT LTl elemaFenl &ulms
WTOHMISNHTE 5T Galdkld X MG
5 &flEsLLBGSR S 6Tefl6V x 60T DG LIL

A) 17 B) 1

C) 34 D) 8.5

9. Four particles of each of mass m are placed at
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the vertices of a square of side ‘I’. the potential
energy of the system is

w2 )

B~ (2= )
0= )
o)~ 5 )

T beroeiter FSITS S 60T
eLpemevaelL L Mg 66V [HTeoTS SIG6TE6T
MEUG G LIL (h 6ITemenT. 6@ U6 Blemm m
eT6vflev @ 5SS eMLDLILNGIT BlemevulmmHMeY

2Gm (2 n 12 )
e

]
o)

10. A space ship is launched into a circular orbit
close to the surface of the earth. The additional
velocity now imparted to the space ship in
the orbit to overcome the gravitational pull is

(N}

B) —

A) 8 km/s

B) 1.414 x 8 km/s

C) 11.2 km/s

D) 3.2 km/s
Liel CMHUTUINNHG 3|H& 6V
all_LUUmenguiev 611 600T 85 6V 60T 6260TM)]
gauliLGRma. el Ly aflemsemnul
HLES &HHM UTnSUIN6) 696008606018 S
Fn(hH6VITEH GULDMRIGLILIL @61 600TLQ UL
Tl Geuss L

A) 8 km/s

B) 1.414 x 8 km/s
C) 11.2 km/s

D) 3.2 km/s

11. In order to shift a body of mass m from a
circular orbit of radius 3R to a higher orbit of
radius 5R around the Earth, the work done is

A) 3GMm B) GMm
GMm 2GMm
©) D) “1sg

m r_r‘ﬂemmu_wrrm @[H QLITIH6EMET 3R QLI LN6TeT
el el L &mm umensuiledmbg  5R
SLTWPETET SHHMILILITENSE G MHMIUSMDHE
QFWWLILmGLD Calemey

GM m 2GMm
©) D) “Ts5r

12. Three identical point masses, each of mass
I kg lies in the x - y plane at a point (0,0)
(0,0.2m) and (0.2m,0). The gravitational
force on the mass at the origin is

A)1.67x10° (i+) N
B) 1.67 x 104 @+ ) N
C)3.3x101 ()N
D)3.34x 10 i+ N
X -y SeM&H6L (0,0) (0,0.2m) WMHMID (0.2m,0)

eTeoTm  LleTerflgmerfley  speu@eumedTmild 1 kg
BlenMUIETET eLN6TMI 625G LiaTer] Blemmaseir

MUSGSILOTRME  eefle enmDUWSHH6V
2 atem mlemmuiledr 158 QFWLLIGILD Le
FLy ellems

A)1.67x10° (+)N

B) 1.67x 10 (i+ ) N

C)33x10°(G-)N

D)3.34x 10 (i+j) N

13. A satellite is revolving around the earth with
a kinetic energy E. The minimum addition of
kinetic energy needed to make it escape from
its orbit is

A)2E B)E

C) E/2 D) \2

Copyright @ THE ALCHEMIST CONSULTANCY



SI6TEHCHTET 660TM E  6Te0T) QUIGHSH
OOl  Lelemw &mal eGSR M.
&7 FHmILI UTenguledmhas ellGuL (b
QFVN FMG Fa(hFH6VMEH CHemaullLi(hLD
GODHSULEF QUSS 5MMeV

A) 2E B)E
C)ER D) \2

14. The gravitational field intensity at a point
1000 km from the center of the earth is 3.9
Nkg'. The gravitational potential at that
point is

A)-1.95 x 10° Jkg™!

B) 3.9 x 10° Jkg™!

C)9.8x 10° Jkg!

D) 3.9 x 10° Jkg'!
L&l emwSH e ®BHE 1000 km Q& memevedlsu
2 66 e Ll6merludley FFy Ll Ljevd Q& nleil 6ot
&L 39 Nkg' ereofley  olieTerfluiley
& 60160116076V 2, MMEO60T LOH)LIL]

A)-1.95x 106 Jkg!

B) -3.9 x 10° Jkg!

C) 9.8 x 10° Jkg!

D) 3.9 x 10° Jkg''

15. A comet orbits the sun in a highly elliptical
orbit. Which of the following quantities
remains constant throughout its orbit?

(1) Linear momentum
(11) angular speed

(ii1) angular momentum
(iv) Kinetic energy

(v) Potential energy
(vi) Total energy

A) (), (ii), (iii)

B) (iii), (iv), (v)

C) (iii) and (vi)

d) (ii), (iii) and (vi)

QML  BLFSHID et  Gilwener
Wasuauilw BHeT eul Ll umemsuilev &mom
AUMBMG eTevfley BLp Q&THI&SLILIL (H6TerT
LI6OOTL|&6TTI60 eTemel &60T SMHmILI LIMTens
(DWEUSILD IDTMITLO6 @) (H& G LD
() CBEICHTL( 2_ LD
(i) @ ImevoT GEUssLD
(i) @& T6oOT 2_[H& LD
(iv) @UIGHEH L,MMeEV
(v) Blemev bMHMeV
(vi) QLTSS DMV

A) (i), (i), (iii)

B) (iii), (iv), (v)

Q) (ifi) LDMHOILD (Vi)

d) (ii), (iii) LH@ILD (Vi)

CHEMISTRY Q.No. 16 to 30

16. To estimate the amount of sulphur by Carius
method, the reference compound used is

A) MgSO,
B) BaSO,
C)Ag,SO4
D) CaSO,

s iflwen Wenmuiley FeusLIMT Si6ThH& Ml
LwetU(® D GLMESTeT G&FJLOLD

A) MgSO,
B) BaSO,
C) Ag,504
D) CaSO,
17. Molecular formula of sodium Nitro Prusside
A) Na, [Fe(CN),NOS]

B) Fe, [Fe(CN),],
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C) Na, [Fe(CN), NO]
D) Na, [Fe(CN),]

GEFMQUILD eMBL GIITLHENFLL60T eLA6V S Fa M
eumuIum@)

A) Na, [Fe(CN),NOS]
B) Fe, [Fe(CN),],
C) Na, [Fe(CN), NOJ

D) Na, [Fe(CN),]

18. In the detection of chloride ion test, the gas
evolved chromyl chloride has formula

A) CrOCl,
B) CrO.Cl,
C) CrO,+Cl,
D) Cr,0.*+Cl,
GGatmeng(®H  Sjweoflemus  &evorL LD

Grnsameruilsd QeuefllIL@LD &G menLo6y
&GaTmen (b 6UITU|6UT6OTSI

A) CrO.Cl,

B) CrO,Cl,

Q) Cro+,Cl,
D) Cr,0.2+Cl,

19. For the accurate estimation of Nitrogen, the
best method used 1s

A) Kjehldahl
B) Carius
C) Dumas
D) Lassignes

MBLTRYeMeT  SeeOWIDMES  Sj6ThSmiw
LiweTL(HILD (emm

A) Q86VL_IT6V

B) G&ifluleiy

Q) (H\Lomeny
D) 6VITH & 60T6MY

20. Sode lime test is used to detect — element in
an organic compound

A)C B)H
C)N D) S
@ &IfInFCEFTING S sVl 6Ter 6TIH S

&60f1L0 8 6008 856007 L Wl @& ITL_IT &+ 600T600T ITLDL |
GFmgement LWeTLGHHMSI?

A) C B) H
ON D)S

21. In Kjeldahl’s method, the nitrogen present
in an organic compound is quantitatively
converted into

A) NH,
B) Ammonium nitrate
C) Ammonium Phosphate

D) Ammonium Sulphate
Q&BELLITEL (MUl 6MBHLIR6T 2 6TeT
&fllng  GFILOLDTETS GEJONTS
WLrHMLLGSMS.

A) NH3

B) oLDGWmesflwib empBL G

C) &JGLmeoflwild LimenGLIL

D) b GLomeoflwith Feu@LIL.

22. Which of the following separation techniques
1s used to separate a mixture of acetone and
Methanol?

A) Simple distillation
B) Steam distillation
C) fractional distillation

D) Vacuum distillation
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G GLITeT MMID QLGS EHETITEV &HeVHS
FHevemeuenl LNiflgsliuweru(mim &iflumeor
wenm

A) TULEFS allg 5560

B) Bymel aumemev alg.& 860

Q) LY edTeuTeU Tem6V 61198860

QUITEM 6V

D) G0OMHSH ~ AWSHHSH 6L

6U1Lq & 56V

23. When thio urea is heated with metallic
sodium, which of the following compound(s)

are formed
i) NaCNS ii) NaCN
ii1) Na,S iv) Na SO,
A) 1 and iii

B) iii and 1v
O) 1, ii, & iii
D) iv only

2 Goums  ComqwsSsILer  SCwmw,iluim
CersH sl QauliLIUbh&SILD Gumgl,
G LD 55 600TL 6T&F G & [JLO(LD) BB 6T
2 (HUTHRIMSI?
i) NaCNS ii) NaCN
i) Na,S iv) Na,SO,

A) i LDMHMILD ii

B) iii LDMMILD iv

Q) i, i, &iii

D) iv lDL_(HLD
24. Concentrated sodium hydroxide can separate

a mixture of

A) Zn** Pb*
B) AI** Zn*
C) Cr® Fe**

D) AP Cr

Niflés 9Ly GEFmqWd emaml Fmsens ()
LweTU®SmSI?

A) Zn?* Pb?*
B) AP+ Zn2*
C) Cr® Fe**
D) AP+ Cr3*
25. Na,CO, Cannot be used to identify
A) CO» B) SO*

C) SO* D) SO

Na,CO,-88 LWeTU(OSSH SHLh&HHeoTL THS
3jwleoflem W &HeooT(HLINNG&H & (LOLQWITSI?
A) CO,> B) SO,

C) SO*= D) SO,*

26. Which one of the following will not produce
a precipitate with AgNO,. Solution

AT B)F

C) PO, D) CO>

LletreumeneoreummieT  61&  AgNO, 2 L.6or

6D LI 6 60)60T 2_600T L T8 8 MS5I?
A) I- B) F

Q) PO D) O,

27. Phosphate radical withammonium molybdate
gives precipitate of which colour

A) Violet
B) Pink
C) Canary Yellow

D) Green
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IILDGLomeoflWwiLD LTS GLL o 60T
LIMenGLIL. 9julef] 2 (peurms @ eflbLig edleor
Blon_ .

A) 2a1g T (6T) S G 1L,
B) @ 6meh&FleullL]
Q) ssmeotifl LDEHF 6T

D) LFe &

28. By passing KMnO, gas in acidified H,S
solution, we get
A)KS B) S
C) MnS D) MnO,

ojflev H,S Hemggedley KMnO, eumujemeus
QFNSHSID CUME QUMLUILI(BeUSI .
A)K S B) S

C) MnS D) MnO,

29. Lead sulphate is soluble
A) In con HNO,
B) In con. HC1
C) In con. H,SO,

D) con. HF
QeVLFMGCULEML  &HMJHSHL LillerLi(hiLd
dlevLd

A) SILT HNO, B) @JL[J HCI

Q) 9L H,S0, D) SIL[j HF

30. Nessler’s reagent is used to dectect

A)C,0> B) Cr0,>

C) Cr,0> D) NH,"
QmBevevy  ellemeTLIQUMT@meT 8
Gevor_ Ml LweTL G SmSI.

A) C,0,> B) CrO,

Q) Cr,0> D) NH,*

| MATHS Q.No. 31 to 45

31. The values of A such that (x, y, z) # (0, 0, 0)
and (T+7+3k)x+(31—3j+k)y+(—4i+5])
= A(xi —yj—2k) are

A) (09 _1)
B) (1, 0)
C) (_19 O)
D) (19 _1)
(X, y: Z)#(Oa o, 0) LDmQJLD (Ii\'i‘t]'\‘i‘ 3i(\)X +

(3T=37+K)y+(—=47+57) = A(x] —yj] —2k)
6TEILDMMI _6TET A - 60T LDG)LIL|&6T

A) (0,-1)
B) (1, 0)

C) (-1,0)
D) (1,-1)

32.Let a, B, y are distinct real numbers.
The points = with  position  vectors
ai+ ﬁ'j+ vk, Bi+ }’t]'\‘f‘ ak and yi+aj+pk

A) are collinear
B) form an equilateral triangle
C) form a scalene triangle

D) form a right angled triangle

o, B, y 6T60TLIGOT QG)_IQ_IGG)_IQJ QLD UG UL 600T 86T
6T6OTSs. a1+,8J+7k Bi+7j+ak LOMMILD
7i+aj+ Bk etetTm Blemev QeudLemT 2 L L
LjeTerflas 6T

A) G G&HITL 196V 3j6MmLOU]LD
B) FLOLIGHS (LNECHTEOITHMS 60N&H LD
C) QF LSS (LNHCSHTEOITH M S I|60LN&H G0

D) Q& mIG 5 Tevor
I|6MLNE G LD

(NE&CH TS NS
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33.1If a=1+j+k, b=41+3]+4k and
¢=1+aj+Pk are linearly independent
vectors and |¢|= V3 then
A) o=1, p=-1
B)o=1, p==1
C)oa=-1, p==1

D)o==*1,p=1

a=i+j+k b=4i+3j+4k LD miLh
c=i+aj+Fk ereruer GEIlWE FTFUMM
QeUGLI&ET InmMILD |C|=V3 erevflev

A)a=1,p=-1

B) o= 1, p=£I

C) o= 1, p= I

D) a==1, f= 1

34, 3=21+j—2k and B=i+j. If C is a vector such that
a.c=|¢lIc—2al=2y2 and the angle between
aXx

—-

b and ¢ is 30°, then|(@xXb)x ¢/ js
A)2/3
B) 3/2
C)2
D)3
3=21+j-2k Whmib B=i+j a.c=Icllc—al=242

Gueulh axXb LHmID ¢ &E& LUl L
GasmeoorLh 30° ereflev | (@ X B) X € |-gir oGy

A) 2/3
B) 3/2
Q2

D)3

35. The unit vector which is orthogonal to the
vector 5i+2j+6k and is coplanar with
vectors 271+ +kand 1—]+k is

21— 6j+k

T

21—3]

J13

A)

B)

)3 f
41+37-3k

51+2J+6kameGUHSL@aS@QErEJ@g,g,rrm
AV QeU& LTSI 21+J+k LOMMILD
i—=j+ karson QGUSSLU&S@BLGOT & ([ & 6ITE B 6V
MBS TV MBS GeUSHLIT

21—6)+k
Jal

21—3_]

/13

A)

B)

3 .
C
) f
41+3j—3k
D WanE— 1Y &N
) A
36.If @ and b are two unit vectors such that
a+2b and 52— 4b are perpendicular to each
other, then the angle between a and b is

A) 45°
B) 60°

)
)

a, b 6L QUG QeUSHLITSH6T
Cuewlh a+2b wmmin 5a—4b  eeTUeT
ROTMIGHC&HTOTN QOFRIGHS GCeUHLIH6T
aeofley 2, b WHWamnHE GemL LIl L
@& IT6roT LD

o[

C) cos™ <

N[\

D) cos™ <
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A) 450
B) 60°

—_

)

C) cos™ <§
D) cos' <%)

>

37.]al=2 and [B|=3 and ab=0
(ax(ax(ax(axb)))) is equal to

then

A) 48b
B) -48b
C) 483

D) - 48a

lal=2, [Bl=3 woHod ab=0 emefley

(ax(ax(ax(axb))))-er G
A) 48b
B) -48b
C) 48a
D) —48a
38. A rigid body is spinning about a fixed point
(3,-2, -1) with angular velocity of 4 rad/s, the
axis of rotation being in the direction of (1,
2, -2) then the velocity of the particle at the
point (4, 1, 1) is
A) 5(1,-4,10)
B) 5 (4,-10,1)
C) 5(10,~4,1)

D) 5(10,4,1)

(1,2,-2) 6T DenFenll EFMHSH 68 meoor(h
@M Hlevorloll QUITEBET (3,-2,-1) 6T6dTm
Blemeullmeor  LeTeflemwill QUGS 4
Griguwlesr / elleormlq er6oTm C&HMTEOTTS H e &
Gaus 5 H 6V FLPVFR DI 6Teot 160
LQUMTefledr HemFGaIsSH 6T GHLIL
4,1, 1) etedTm Lemerflemull] QUITMIS S

A) 5(1,-4,10)
B) 5 (4,-10,1)
C) 5(10,—4,1)

D) 5(10,4,1)

39. The values of x for which the angle between
the vectors 2x*1+ 4x’j\+ k and 71— 23 +xk
are obtuse and the angle between the z — axis
and 71— 2}+ xk is acute and less then 1/6 is
given by

1
A) O<$<§
1
B) x>701"x<0

1
C) 5 <z <15

D) there is no such value for x

2 1+ 4xj +k, 71— 2] +xk 6T60T(Y
QAUGLIHEHHEG @6l L  G8ITeoord
AN CHTerord WHMID x & Ti— 2] +xk
AHWaMMGEG @enL UL GComeorid
GOIBICHTeOTD LMMID /6 L Gemnmey
6T60116V x 60T LOGLIL

A)0<z<i

2
1
B) z>5orz< 0

O %<x< 15

D) x -&@& 6THS LDHLIL|D G)6vemev
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40. A Parallelogram is constructed on 3z+5 and
— 45 where |a|=6 and |5/=8 and @ and b
are anti parallel, then the length of the diagonal is

A) 40

B) 64

Q) 32

D) 48
lal=6, I5]|=8, aw, b b aTHF G)enevor
QeUGLISH6ET eTeolley 3a+5 wWwhmih a—4b
6T60TM QEUHLJEHMET AHSHSH LISHSHMISGHETTES
Q&MTeOoTL. @ eMe0T&HISH 6T enemey el L
Berrin

A) 40

B) 64

C) 32

D) 48

41. Anon — zero vector  is such that its projections

1+] 1—] =
along the vectors and and k are
¢ 2 2

equal then unit vector along a is

o V21K

1+J 1— . .
5 oo
Flemaserflev afpemev FLD 6TaTE 685 T60T L
@M LFRWLDHMm QeusLT a 67 A&
Qeus LIy

A) V2i-k

kK euSweummler

Py

V2K

13)7j_f3

10

&‘

O TF

k

2

42.1f DA=2a,AB=5 and CB=ka where k >
0 and x, y are the mid points of DB and AC
respectively such that |al=17 and |Xy|=4
then k 1s

Lk
/3

)

py 4K

>
p——a
—_
\1‘00

HIN

@)
p—
-3

> Z
— = (o "“@
q‘w \1|°° \1|cn =

—
]

¥

=P k > 0 WomID X, y 6T6orLI6oT
B, AC &erfledr emowiLll Leimerflaerr
17, |Xy | = 4 erevfl6v k-60T LS

®
3
syvE
|| O

&
5
e

Z

o
~

o

-

\1|cn \1|“D

= () =

S
—
\1|*'>
—

A

43 Let a=2i—j+k, B=i+2j-k and
¢=1i+]j—2k be three vectors. A vector in

the plane of b and ¢ whose projection at ais
of magnitude V2/3 is

A) 27+3j—3k and —27—] +5k
B) 2i+3j+3k and 21+]+5k
C) —27—j+5k and 27+]+5k

D) 2i+]j+5k and 21+ 3]+ 3k
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a=2i—j+k, b=1+2]-k wHob 2 &
efpedledr eTevOTeTOTENTEY V2/3 2 emLWEID b,
t=1+t]-2k SBweamem 2 6reT &R
FHETHH 6 3(60LDEUSILDITET ([H CleUSL T

A) 27+ 3] — 3k Wwmaib —27—]+5k

B) 21+ 3]+ 3k Wwmmib 27+ +5k

C) —27—j+5k oo 27+7+5k

D) 21+]+5k Wwhmuib 27+ 37+ 3k
44. The vector ¢ , directed along the bisector

of the angle between the vector 71— 4] — 4k
and —27+5]+ 2k with [ [=5/6 is

A) 3(T-77+2K)
B) 3 (57+ 5]+ 2k)
C) %(T+ 77 +2k)
D) none of these

71—4j—4k woHmib —21+5)+2k  ererm
QeusLjserfler Gaimetor @) (HELOGI6U L1 usleoT
FerFUllev 2_6TeT ¢ 60T 6TevoTevOTeTEY | ¢ | = 54/6
6Tl 160 ¢ 60T
S5 AT
A) 3(1—7_]+2k)
B) (57 +5]+2K)
3 J
0 2(F+77+28)
3 J

D) @eummlev 6Tgia|LD @)6V6m6y
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45. If pth, qth, rth terms of a G.P are the positive
numbers a, b, ¢, then the angle between
the vectors loga'i+logb’j+logc’k and
(@=r)i+(r—p)j+(p—q)k is

A) m/3
B) n/2
. 1
C) sSim /a2+b2+C2

D) none of these

R0 UGSGS QSTLIIEN p, q r WpeIS
2 MILILS6T (WemmBW a, b, ¢ etedrm LWleM&
6T600T & 6IT 6T60f 160 loga’i +logb’j + logc’k
LoD (q—r)i+(r—p)j+(p—qk 66T
OGS L JHEHEHES @60 LILIL L. G&ITevorLD

A) /3
B) n/2
— 1
C) s \/a2+b2+c2]

D) @eumnlev eT&iaLD @)6Vemev

Copyright @ THE ALCHEMIST CONSULTANCY



